
Crank Height Adjustable Desk
Use Manual





2

20

1

2

3

4

5

6

7

8

9
10

11
1213

14
15

16
17

18
19

20

21

Part Qty

1 M10*35 machine screws 4

2 Foot 2

3 Column R 1

5 ST5*20 wood screws 17

6 M5*4 machine screws 2

Hand crank assembly 14

Short driving rod 17

Side bracket 28

Rubber mat 109

Part Qty

M6*14 machine screws 8

M6*14 mahine screws 8

Gearbox assembly 1

Frame R 1

Hexagonal rod 2

Gearbox fixing plate 1

Center rail 1

M6*10 machine screws 4

Drive Rod Assembly 1

10

11

12

14

15

13

16

17

18

Part Qty

Frame L 1

Column L 1

Hand crank holder 1

M3 hexagonal wrench 1

M4 hexagonal wrench 1

M2.5 hexagonal wrench 1

M6 hexagonal wrench 1

19

20

21

23

24

22

25



3

STEP 1: Install the foot to the column 
using four M10*35 machine screws.

STEP 3:Insert the center rail into the frame, 
adjust the width and then install the frame 
to the center rail using four M6*10 machine 
screws.

STEP 2: Intsall the column to the frame 
with four M6*14 machine screws.

 



4

STEP 5: Tighten the knob on the long drive lever by inserting the hexagonal rod into the long drive lever from both sides.

STEP 6:Install the side bracket to the columns 
using eight M6*14 machine screws.

STEP 4: Install the gearbox assembly to the frame 
using four M6*14 machine screws.



STEP 8: Insert the short drive rod into the gearbox assembly and the hand crank into the short drive rod.

STEP 9:Install the hand crank and hand crank 
bracket to the table top panel using 7 
ST5*20 wood screws.（Positioning 
dimensions are detailed in the attached 
drawings）

5

STEP 7: Install the tabletop panel to the table frame 
using 10 ST5*20 wood screws.



STEP 10: Lock the two M5*4 machine screws on the short drive rod.

STEP 11: Installation completed

6


